

Apartment in Gzira



Gzira, Sliema and St Julians Surroundings



€430,000

Reference No: 240231027-226

 Total Rooms: 7

 Floor Area (m²) : 128

 Bathrooms: 2

 Bedrooms: 3

Apartment - For Sale - Gzira

GZIRA – APARTMENT situated on the first floor and served by a lift, located close to all amenities. The accommodation comprises a spacious living and dining area leading to a large front balcony, a separate kitchen with an internal yard, two bathrooms, and three double bedrooms, part ownership of the roof and a small area for a washroom. This property is being sold freehold, fully furnished, and ready to move into. Viewings are highly recommended. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift

Rooms

- ✓ Kitchen : 2.3 x 3.4 m (7.82 m²)
- ✓ Living/Dining : 3 x 7 m (21 m²)
- ✓ Double Bedroom : 3.9 x 4.3 m (16.77 m²)
- ✓ Double Bedroom : 2.9 x 3.1 m (8.99 m²)
- ✓ Double Bedroom : 3.2 x 0.32 m (1.02 m²)
- ✓ Bathroom : 1.7 x 2.1 m (3.57 m²)
- ✓ Bathroom : 1.1 x 1.7 m (1.87 m²)
- ✓ Open Space : 1.5 x 6.2 m (9.3 m²)

Gallery







Rimels Muca

RE/MAX Centerparc - Qormi

M: 99964410

E: rimels@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta